CAarcuLvs 11  5am 4c "Dr- CRALALTE
Sths alf wrwk as necessary o 5@4“{3/‘9““—‘ (I P"'.zg>

(7)/ Find Ver'{txl 'ECMS, dﬁ%’x and ‘]Y‘n)dz i gz.f.zg_ +oxX=17

2 . FAnd +#e 2;-9«2%‘) % 4 /OGN&L\ w/ﬁ( foces (0,7) ol el
@ divechrix 4=3. skated <4 qu{ and Find Ha vertex .
3. Fnd & comdinates 764 vewﬁ—fces) focs M«yrnf'ét for ¢

(4) @___""zj—+ G-4"_ | 4 & Q‘ﬁ)z—.—./
7 =1 7 W

4, Guugl | Find conter adl vertices
CH kx*+ 94 +96x +36y +36=0
hH A= 49"— Mx =324 — Il =0
e End 4 egestin or H conic W focss’ 2 (3) aAB)
(7) Nwit‘.{ M‘g’b%,&.\?ﬁ 2. - ' -
év. F/‘nc/‘-éld e Yom Hor A onic w/’% vertices af (2,2‘:'3)5».//
(D focf oF (2 %5)
7. P~ l7x’-'—lzxg +Egz=go,‘%émfﬁz‘t’4 crrre a~7é Z/nészm
(/4, s sued ot aoa:-.\;!; a_,,/a.‘.,@:%.o&);ﬁmql-t&—
S S~
cobcked eguntim ad 4rmpd S omic .
g, Geeen Af—‘-.-G':\j—z;—s& 2t &= J\BE e a w-{x{é«/:y.s{em,
(14) X) jd/% (z,v) J.M g'ﬁ_ line FT=\Vs.
8) Fold 2L (%,4) crmdenate, 5 (55) 4 (45, 0).
9. Find a paer series o= )= Si—_—_-g_ Wa‘c.mo,
) Find th wdius 9 cmweryonce -
/0. Fnd T&;/ﬂf//ﬂm[au.r/n ser'es e#nn:‘/"m fre
Q) L’;WZ' ), wteS at x=0
(5-2*) ;‘) C'K;: ¢¢n‘é\"/ aF X=0.
Q) b (x+1), a..t:/ oI %=0,
£.c, d) Fnd e X dt wrtll ool



" CAcueys iy EX"’)’_ 4c &:/«1427)7_5

A 9:4.;.?4,@::/7 Z.W ) .@;"‘2:—./ Cl2,9)

I¥29+)  =—ex+17+/ —

4a) X +oex + 93 136y = 36

Wl cx +7) + 7(;1;.4344) = =%+ /44 +36
/6(x+3) = 9(3 +z) =144 4

Vi) Y (D)
bl Gga” . )

x= 14y - 4 -—3z
C(—},—L) o ? a

7('/4’“‘47 44+ 29+ = 1+¥-c
V(-3,2) (-3-¢) &-7)* —4(gra)" i >= .
FA)

Czsa. 4—4

F=q+25 cmﬁZ

S F(3) (3,60@#1,% / e 3A)

C(35) c= oG]

2a=02 H-—

a= é‘ﬁ:‘ I 6. T
3654225 Q:._g

&3, G-9) ) P /?A‘g:

20 36 o+ % e
L 2T A4
74)I7x-/2x +S’g 12 t+s 25

d&'l "i Elg &)X E:X&OQ'P‘:,A:.—B

0'320-'-3/5"' @’x#’ﬂ’\?

- . 2 -





